=:&EfAiE PUS300 x 300
J/EHZEE 0.75m/h r

#ERAREN GS-400
=&EH SR-900 JEHREE 1.18m/hr
REHRBEE 6.44m/hr




2 mAEEREN=F—VEE
LETe? LI

., BHENETT TERORAELBROETFE
HaWwhREWECRE S TEN> ThET.

THIER, ERFEFICLIVRENRPLTXT.
EROX S KENMFRAKREBICLD, o< D LHiN
TWiERKE—FIFAINCRELTWES. 5Lk
PTHEIL T RRIEBRICLD,. EHOERICHLEETE

Dty FKRD R
":3;"’” QN DBERLE
2 e

iR T ORALE

@FHDOEERDBARES

MTTETNFET. Tho0EEZDLLTHELELT
7%, WAKZERICEDCEKL., o< Y EHTF
NETLT A EDICEA SN I OEKEESEIST
< B

AAREEEEN_F—ILZ, HEEEELFILEZOT
E2EHIHOBEEWVWELBITET.

i25%# SR-900
HREHREE 6.44m/hr

£k #HPM-500 SS50
ZEtiREE 1.13m/hr

—ikFAi=EM 500
REHRBEE 1.34m/hr

#HERAREN
®EHREE 1.18ni/hr

HERAREN GS-400
®EtizEE 1.18m/hr

ERRE 300
REHREE 0.82m/hr

=&Efi& PUS300 % 300
FEtiEE 0.75m/h r




24

I 7K =

JL=/JL

JJL/TEE X aX |:|-H§I_|

ARETSRM

HHEE  182m
EEMEE
FIRZEAKGRE 0.14
MKALES

N=R

/xl__i

2m

6.30m/hr
7.99m/hr

an

- BEAT(H) B (W)
PN - < pabEEE 1aas HE=0K _ REEE (m) (m)
iR A= iidzs
MERE 1= —fm &54#(2& 35000 0.990 0.870
iR = A A (28 15000 0.990 0.970
SRS £ 1009.65 =+ 1248 = 0.809 —HRA 50000 0.990 1.020
») —fA B 60007 0.990 1.120
= x 112.5|= 101.25 —fA 35000 1.290 0.870
s ki X 0= 0 —f 45000 1.290 0.970
Bk x 1135.5|=  908.4 iR 50000 1.290 1.020
e A x - 0 — ik 60007 1.290 1.120
Sk X = 0 BB (28) 900 2.450 2.435
it 1248 1009.65 B (28%) 1200 2.450 2.735
356 Ul C KOTEHIRER DA DD CHEBD T, B (38%) 900 3.350 2.915
271 (3B%) 1200 3.350 9.000
AT R | YURPIPMA50 SS450 45000 0.700 1.050
Q=A-f-1/1000= 56.42_m’/hr ik AEAKIPM500 SS500 50000 0.700 1.100
i& HKIPMB00 SS600 60000 0.700 1.200
iRBHE . BB PUS 300 X600 HRERERBHGS-400 40003 0.900 0.920
H= 0.780 'm - I ENEBHE 2400) 0.700 0.706
W= 0.840 m FAN ENHREN 30000 0.700 0.772
%, HUKBIPME00 SS600 6000] A ENZSH 35000 0.700 0.822
H= 0.700 m )L?Ff?‘ifﬁ&xﬁm AT 240 6 0.635 0.700
w= 1.200 m 300 ¢ 0.635 0.760
. @A (28 900 [_3]m 350 ¢ 0.640 0.820
H= 2.450 m E’ 2406 0.835 0.700
w= 2.435 m 3006 0.835 0.760
"L g EPREE 3500 360 ¢ 0.840 0.820
H= 0.700 ' m 300 0.530 0.800
w= 0.822 m - 0.430 0.760
5. 28 12l PUS 300 X300 0.480 0.840
H= m EI 29 EEBHE PUS 300 X600 0.780 0.840
w= m 30 % hLe 0.400 0.400
31 ZDf, fiiz A7)
FaIFd AR
ko= L ST 6L T A2 b i
TS R0 100m? F AR O SR
B 100~500m®  —ARSRBE (BB + ok BRE 0+ BN
Q= [ 0lwi/n miEsELAN 500~1000m®  — MR+ AN EE - 2B R (BN F)
1000m*gh b= IR+ A BB B HRE I+ REN T
5 2
BHiEm AR 182mi
[~ 4 e
AEISENH J_UJ» LU_U_U_M_J_LU,A AN
BB 300 i 11 01 0§ L BBk 300
@Eﬁﬁa
BT Il I I
Lﬁﬁﬁﬁﬁﬁﬂw4mf
I TCICT T TETL ] T f
AT B J-—U E
LLLETL LT ] 9-9m [ [[]] N 5
b o
T Lilﬁiﬂ%’iﬁﬁ
ZZ 300
3 o —
BEEELAP— X
s 2
Zé—?-ﬁy\SOm

TR

- —RREBG - - - - - - - —RREN- — AT
"350 egE > v v T " * “350/ 3Bk 350/ 3Bt
13m

X E

XI5

g =

BE T

nX |:|-H§I & 7LcL U i '3_

BT AT D REMSRE
ROMEM - WEIZERY FT,

(LT

=B

— it BB
(3K%) 350

3E

;Fil.]

ERMREN
A1 300

~
i

BB R FIC LY




I 7K =

JL=/JL

JJL/TEE X aX |:|-H§I_|

ARETSRM

HHIETR
EEMmE

a7 1PV
MKALES

=

an /Xl__i

225m
78m
EAGREL 0.14

7.90m/hr
10.39m /hr

N
N
é = BEKE(H) R (W)
Wik manne [ < migsn  sx MWg—ok _HEEE w (m)
BT A= 2|m* 5
MeRisRE 1= mm —ART B (28) 35000 0.990 0.870
iR f = 0.620 —HRT BB (28 45001 0.990 0.970
MR 1128 + 182 = 0.620 —AH A (28 50001 0.990 1.020
© 7S] AT BB (28) 60001 0.990 1.120
R 0.90 | x 2|= 648 —A A (38 35000 1.290 0.870
B 0.40 | x 0|= 0 —A BB (38 15001 1.290 0.970
R RS 0.80 [x 30[= 24 A R (38) 5000 1.290 1.020
JEE - 23 0.30 % 80(= 24 T R (38 60001 1.290 1.120
ok 0.25 | X 0= 0 RFH (28) 900 2.450 2.435
i 182 112.8 RFH (28) 1200 2.450 2.735
3 HIIZ RO AR B O ASED O CTHERB D IF, 2B (3E%) 900 3.350 2.915
RFH (38 1200 3.350 9.000
FZKALFR R I HKPEPMA50 SS450 45000 0.700 1.050
Q=A-{-1/1000= 6.30_m*/hr bt"“ HIKPEPM500  SS500 50000 0.700 1.100
%KM‘—PMGOO SS600 60007 0.700 1.200
BB i ENHRER 3000] 1000] 0.900 0.920
H= 0.700 m 2400 0.700 0.706
. w= 0.772 m 30001 0.700 0.772
2. E2EIHE PUS 300 X300 35000 0.700 0.822
H= 0.480 m 240 0.635 0.700
. W= 0.840 m 3006 0.635 0.760
S A RSB 45000 350 6 0.640 0.820
H= 1.290 m ‘ZI 2406 0.835 0.700
. w= 0.970 m 3006 0.835 0.760
4. 360 6 0.840 0.820
H= m ‘II 300 0.530 0.800
. w= m 27 BiEIHE PUS 250 X 250 0.430 0.760
5. 28 BF i PUS 300 X300 0.480 0.840
H= m III 29 2% PUS 300 X600 0.780 0.840
w= m 30 2% LT 0.400 0.400
31 Zofts, A3LAF L CHRUCH A A S
FFZ AR EREL
ko= LR A OF AT RP L C oD F 2272 B
BB R LY 100mLL T — IR B E I+ R
AT AR 100~500m” BT B (R E) + Sk b 20+ 2B
Q= [ oOlw/n imismLen 500~1000m? B A B R BRI R (REN )
1000m LA - — B R E Y+ kb RE IR E NI+ R HIREN VT
ﬁ%ﬁwm ] RN
N AR wa
R T L] ¥ % W ] ; ]
108mX72nrfﬂhnliJLJJELi
[N
LL L T ] L
A . ===
FTEP A FRIEN g
§§W3WIIIH 1 |||¥|1 1119 ] 1L1u|| [ T 1| B&# 350 Lo
e 7 s 2
S T EEFAR—R KBSy 54
2
225m
]
H
B ZLE s
— AR AR E D —| AR E
(2BY)

EE i PUS300X 300 12m

15m

KRR

RIBENE

SHEIE Y £, @
HOEH - BRERRY £7

B ET O fERVEE

(EIES-E

==

/xl_ U/%
PUS300 x 300

12m

— iz

=B

(28%) 350

=K bV

BKREEFEICLY




MK iR EMEE T

BTN R (W)
ey | s f =OK | MEEET () (m)
35000 0.990 0.870
ithtRE £ = 4500 0.990 0.970 nx n-l_ 7'< 14:
SR INEFTHERE £ 1009.65 + 1248 = 0.809 50000 0.990 1.020
8 @) 6001 0.990 1.120
R X 112.5]=  101.25 35001 1.290 0.870
s TARMERE x o|= 0 45000 1.290 0.970 ~ =+ 2
AT AR x 1135.5 908.4 50000 1.290 1.020 E&j}@ﬁ = 1 2 48 m
- 2N x ) 0 60001 1.290 1.120 ﬁ —
[ x o|— 0 900 2.450 2.435
at 1248 1009.65 1200 2.450 2.735
3561 MU = R OTEHR B I35 > THERD IR, REH (38 900 3.350 2.915
EEEI (3B 1200 3.350 9.000 == 2
E:km:%ﬁi HURPIPMA50 SS450 45001 0.700 1.050 i ,Kﬁ = 1 1 2 5 m
Q=A-f-1./1000- 56.42 mi’/hr r HRBIPME00 $S500 5000 0.700 1.100 == -~ -
S HRBIPMB00 SS600 6000) 0.700 1.200
AR T PLS a0cny [89lm HREHEEIAGS-400 4000] 0.900 0.920
0.780 m 4 £ 2400J 0.700 0.706
w= 0.840 'm % EN A 30001 0.700 0.772
2. kmeMboo sse00___eoor) sl )l e 35000 0.700 0.822 *D 7}('{-7'—* ?& O 14
- § AP T (AR 240 ¢ 0.635 0.700
w= AUEPI IR T (T 300 ¢ 0.635 0.760
B T (28 AP T (i 350 ¢ 0.640 0.820
FUIEN L () 240 & 0.835 0.700 = 3
AU T (R 300 6 0.835 0.760 —J< }LI =
% fai %wmmﬁm SUBEP LT R 360 ¢ 0.840 os2 || RR] 7 == R m r
26 BEUE 300 0.530 0.800
27 Z i PUS 250 X250 0.430 0.760
. 28 LA PUS 300 X300 0.480 0.840
H= 29 I PUS 300 X600 0.780 0.840 ‘E o 3
w= 30 12i% LT 0.400 0.400 7 4 4 5 h
31 2oy, FARERECAS | AALCREIC R A nX al /< 1 E . m r
BT RAR A
ko= AR O FHATTREN =L C 0> B it/ (T
i% il W) 100m?EL T B FH B P+ N
AR 100~500m> LTI (R ) + S B I+ 5%
Q= [ Olwt/ne smicsmLz 500~1000m* ST+ A ST ST O+ RS GRIBRL LT
1000m, | B PR BT - A B LR+ BB + I+ BT L
1E EH 1] O
=< HAA
AR
32m = R

PUS300 x 600

UDlI_-I E IV -
ﬂ_l ..upuf'ul ULLLL
15 S5m= 5m E
IR 11 = 89m
LI AT T m Hin
st ntm et it =
Sk PM6 =
amiiﬁ’é’&t,g MRS 12481 5 oKkt
s 3
]
: ; PM600 - SS600
TT 2iEH : Sk PMB00
"\7 =— 5 E #3000 X600 16m et Sﬁ
o% ﬁ?k# T’Mouuj__ —_— i =
N e
s g NN
S BEH
SR900 (288)
s "
3 )
1 5 8%
il o $EoK B PMG0O
b &P SS600
=
=R/ B E BIi#300 X600 16m . ' W}Eﬁ /x1_7f9¢

Sk PMG00 | |
s

i

KERISHRFH LY XY, WHTHORERERE - BMEKREEFICLY
RBEMERDEE - HEFELY £7,



VKRBT R XA

ARETSRM

B hmiE
ZEmE

440

2m

EIMEAKREL  0.14

RRZKALIE =

N=R

an /Xl__i

20.07m/hr
25.96m/hr

XK EE

BE T

XI5

N
~
2 = BFATUH) IR (W)
fre A - < maheEE 7445 CHE=OK g (m) (m)
HHERT A= 5
Wi 1= WOH (28 35000 0.990 0.870
bR £ = 0.809 —iR R (26) 45000 0.990 0.970
PEPINTEFEHRE £ 1009.65 + 1248 = 0.809 —M BB (28%) 5000 0.990 1.020
© (a) WA R (28%) 6000) 0.990 1.120
=i 0.90 | x 112.5|=  101.25 R 2B (3B 35000 1.290 0.870
s BAKIERREE 0.40 | X = 0 —iRST R (3E) 4500 1.290 0.970
ik ihisE 0.80 |x 1135.5|=  908.4 —f E (38 50000 1.290 1.020
JiE- 2N 0.30 | X = 0 S (3B 60000 1.290 1.120
[esit) .25 | X = 0 2 (2B) 900 2.450 2.435
# 1248 1009.65 B (28%) 1200 2.450 2.735
346 MU SDEHRBLOD DO THERD . % - (3E%) 900 3.350 2.915
EEIF (38 1200 3.350 9.000
KA | HEAMIPMAS0 SS450 45000 0.700 1.050
Q=A-f-1/1000= 56.42_m’/hr ﬁﬁux HKPHIPME00 SS500 50000 0.700 1.100
YURIPIPMB00 SS600 6000 0.700 1.200
it 1. BB PLS 300 X600 HREHEEIGS-400 4000] 0.900 0.920
H= 0.780 m 4% ewm@ﬁw 2400 0.700 0.706
w= 0.840 m 30000 0.700 0.772
. SEAKBIPME00 SS600 6000] 35000 0.700 0.822
H= 0.700 m - 240 ¢ 0.635 0.700
W= 1.200 m 300 ¢ 0.635 0.760
. REH(28) 900 318 125 (7 %) 350 ¢ 0.640 0.820
H= 2450 m II] IS ED (A 240 ¢ 0.835 0.700
w= 2.435 |m PRz GO 3006 0.835 0.760
L. 4T e 3500 PITEZ I (AT 360 ¢ 0.840 0.820
H= 0.700 ' m - 7 300 0.530 0.800
w= 0.822 m 27 2B PUS 250 X250 0.430 0.760
%. 28 LA PLS 300 X300 0.480 0.840
H= m |I| 20 KA PLS 300 X600 0.780 0.840
w= m 0.400 0.400
FIRTE R R
ko= UL O} ORI A%
fz e e S 100m?L F — R
BRI B 100~500m* SRR GREIE) + ki B0 2B
Q= [ Olwt/nr dEmLA 500~1000m? PRI+ G P EE -+ REE -+ REHE (BEN T
1000m%2A I — R YA RE R RE N + RIESE BB T
22m i
I SRkt PME00
| EE P 55600
amT ] AL | } | mmzpsm ] )
@& Fo i ‘ | 2iEH 350 g
3
F L] @%ﬁFLU-LLL, H :
2
J T T Tt \il.ucvvz; E& =
s =3
ﬂ 12m X6m=72m < =
LI a2 TLT JTLT] =
. T 1l . =
m L] ,, s 73 HKiE PM600
EP £ 2 = = = QR
Y SCHNERS 440nf il s
»
=1 -
s g
=
g [SN]
X
o
=
3
B2
8
E
P o
PRF W 300 % 600 m &
A=F—3
. N2 300X600 11m =
okt Proo0 y \'
23 # SS600 — = 30
$E 7K PM600 ]
23E Pt SS600
i

CIEERETAI & 7)) £9, WARMTHT D ERRE

X DIERE - HEIFELY X7,

(EIES-E

=EAE
PUS300 x 600

34m

okt

PM600 - SS600

BB R FIC LY




7K 2SN

=/L=JL

X AX |:|-H§I_|

DS

St

B hmiE
ZEmE

BaflE
RR 7K AL

J=

an XI5

237Tm
90m
EAGREL 0.14

HE

8.50m/hr

2BEE  11.08m/hr

(FIEEES

]
AR

T (H) R (W)
WAl m::w&gg- < matmmE 1039 HE=OK  AtSERs m) (m)
WHiERg A= 237|m* 5
L 1= 55.88|mm —H RE(28) 35000 0.990 0.870
Wi = | 0.642 A R (28%) 45000 0.990 0.970
BRSNS o 152.1 + 237 = 0.642 —H R (28) 5000 0.990 1.020
(© (a) —HRH R (28%) 6000) 0.990 1.120
AR 0.90 [ x 90| = 81 —f 2 (3E) 35000 1.290 0.870
s dARMERRE 0.40 [ % of= 0 —H R (3BY) 45007 1.290 0.970
AR 0.80 [ % 54[= 43.2 R (3E) 5000 1.290 1.020
B AT 0.30 [ % 93= 27.9 —fH R (38) 6000] 1.290 1.120
ki .25 | X of= 0 2T (28) 900 2.450 2.435
# 237 152.1 R (28%) 1200 2.450 2.735
3¢ I L0 AR BRI A3 O TRERB O T8, 2B (38%) 900 3.350 2.915
I (38 1200 3.350 9.000
EEREEA . HERIFPMAB0 $S450 45001 0.700 1.050
Q=A-f+1,/1000= 8.50_m®/hr HKHPM500  $5500 5000 0.700. 1.100
HKBPMB00  SS600 60001 0.700. 1.200
R 1. A ERMREM 35000 &r;&)ﬂ&éwcs 400 4000] 0.900 0.920
H= 0.700 m i € 2400 0.700 0.706
= | 0822 m Y = 30000 0.700 0.772
2. BB PUS 300 X 300 4% 35000 0.700 0.822
H= 0.480 m e 240 ¢ 0.635 0.700
W= 0.840 m 300 ¢ 0.635 0.760
3. A A (2B 3500 [ 2lfE 350 ¢ 0.640 0.820
H= 0.990 m 240 ¢ 0.835 0.700
W= 0.870 m Rz 300 & 0.835 0.760
1. [ FIBE P 360 ¢ 0.840 0.820
H= m 26 =ZBU 300 0.530 0.800
W= m 27 2T PUS 250 X 250 0.430 0.760
5. [0 28 N PUS 300 X 300 0.480 0.840
H= m 29 ZiF M PUS 300X 600 0.780 0.840
W= m 30 1% b 0.400 0.400
31 Zoft, BABI AN L TR E A
BUFIE AAHK o )
ko= B 27 R K OF SR 6 Lo H 72 flii
BRI R LD 100m* L4 F - FRE P+ ENRE
BT 2SR B 100~500m?  —f IR (RBIE) + kb BB B
Q= [ Olw/ne i@ 5ELAN 500~1000m® XTI+ YUK 1523 0+ B+ 235 (B Lo F)
1000m*Bh b RS -HokbE B RE NS T
] 2
L saans 1H i ERE 237Tm
15m
2R |
s A i BN
i ks =
0 R A i (0
K 1L | ] 2 g b
12m X 7.5m=90m 2
i i 12m
@l z
11 () i 9
o RE fREME
11 [T &% #4350 ESuTLE
Ty
EEER—24% 4y 54nd i
= FHERMEHE
e —iREEN i s
T % 3&)350l %) 35

XK EECE

RIBENE

==

/xl_

12m

A%

PUS300 x 300

— A&
(3E%)

=B

350

nX |:|-H§I & 7LcL U i—g_
RODOERE - MERERY £,

W& A T BT O B R

=K bV

BRI EE

&Y




KR ENEREY

RETH

= = AR (D) B (W)
- < IR 233.96 =0K A SRR =) (6
5
R0 (288) 35001 0.990 0.870
2T (288) 45001 0.990 0.970
4563.2 = 0.824 T (288) 50001 0.990 1.020
BT (282 60001 0.990 1.120
x 1104.1|=  993.69 35001 1.290 0.870
x = 0 45001 1.290 0.970
x 3459.1|= 2767.28 50001 1.290 1.020
x = 0 60001 1.290 1.120
x = 0 900 2.450 2.435
at 4 3760.97 1200 2.450 2.735
356 HIRIZ 20 B AR SOOI EES O TR 900 3.350 2.915
1200 3.350 9.000
KB R ‘ %/kMPMMO $5450 45001 0.700 1.050
Q=A-f-1,/1000= 208.63 m®/hr i HABEPME00 SS500 50001 0.700 1.100
HAMBEPME00 SS600 600C] 0.700 1.200
i fi " SHKBIPME00 $S600 60001 AU FHILTEPFGS 400 4000] 0.900 0.920
= 0.700 m T EP TR 2400] 0.700 0.706
w= 1.200 m I PRI 30001 0.700 0.772
%. &iﬁ#(:&&) G EP RS 35000 0.700 0.822
H= 3.350 m S S b O ) 240 & 0.635 0.700
. w= 2.915 'm SN 12375 ok (3 o 300 ¢ 0.635 0.760
3. iFE Wi PUS 300 X600 HUTLEN I 527 ok (U 350 ¢ 0.640 0.820
H= 0.780 m LI SRz (AT ) 240 ¢ 0.835 0.700
. W= 0.840 'm )L?Té JHiZ ik (IR AT ) 3000 0.835 0.760
4. HUE JHiZ b (AT ) 360 ¢ 0.840 0.820
H= m 26 i2HUE 300 0.530 0.800
w= m 27 #2F i PUS 250 X 250 0.430 0.760
%. 28 i A IE PUS 300 X300 0.480 0.840
= m 29 {257 PUS 300 X600 0.780 0.840
w= m 30 Fﬁ ~F 0.400 0.400
31 - RAREAI LA L TR &2 A )
fiak itz RET=q
ko= HLHE T L OF SRR LT > A 22072 6 il h ik
ERE i A 100m*LL T TR E I IR T
L ZE B B 100~500m” TR E I (T + - 12T+ T i
Q= [ Olut/nr @#ssLAz 500~1000m?  — R EL T+ HKHE- B+ LB+ I (BB )
1000m” LA I S BT+ S BT RE A+ BRI RS T

HHEE  4530m
EEME

EIMEKGRE 0.14
MZKALEE

N=RC

/Xl_i

1104m

286.3m/hr

233.96m/hr

HXI:I

A HPME00
HIHMSS600

B (3R
SRY00

MR PUS300 X 600

it 3 (38

oty

SR900

/

(3% 3R (3

SRI00

20m

HLKOUNE PUS300X600_20m

\ A PME00
\f\.%mo

HABPME00

{Bifﬂfmssbuu

7

B ()

SR900

B (3R)
SRE00

SR900

XK LRI

RN

ERETOIE Y £9,
X DIERA

HEIFERY X7,

WA HPME00
BHPSS600

@& (35

ME00
1s5600

%I (%)
SR900

=

SNd ¥

Toa 00

PPM600
WS S600

PrPM600

XE A T BT oD g o L

(FETT

=/

PM600 - SS600

16%

=

/xl__#

SR900 (2E%)

125

N

/x1_1 %

PUS300 x 600

200m

BB RBEFIC LY




MUBHR 3000300——

SRR

Smii Bt

EEE

BHUE R 237m

1om

N

3004200 HIEHY

ki 3004301
MERREEY

[
|

12m X 7.5m=90nt

o
-

LD

45 N
= Z5 1350

— iR

3E%) 350I

1 E
fRENE
1ZE 3D

IR 2

(IBE%) 35




mE F%4 BT (1 BT It 17 451

N=rk—JL
° B@&EH SR900

215 IR 5% 2 W T X

N=71k—)L
2&EH SR900

MUfEI;ZE 300 x 300

JRAEYRE RS
CSB 0200
MU FA Sk it ||| masmEEED Y Us Tl EERREDL Y Us
300 x 300 0| 300x300 #imsE . 300 X 300 iR =
— noon

[T L TRV \

Il
I
O

MU{EIE 300 x 300

\
|
EQ‘%EM —

JRAF YR L = = _
=5 K300 X 300F WWI/IIIIIIIIIIIIIMHIIIIIIIIIII||\\\\\\\\\\\\\\\\\\\\\\\\\
il Ll S 1 PR A
MUf2li# 300 x 300 w 6000
135° —{KH! Pl
£ 7K #1300 x 300
] T AR EE
" mwmEEnL Y Us 1M FREEDL S US MU fil;#135° T kT
300 x 300 $ktR&E 300 x 300 #ktR&E
6 3 5 6 MUfili&135° THIIE. BREBOE
- oA ] A . = NTENEHETES,
MUfEI;#& 300 x 300 —_— I MU{EI;# 300 x 300
JRAFYRHEEF ‘:}‘ JRAFYREES
400 H 2000 H 1160 H 2000 “ 400
10 10 10
6000
REAIZR) VTG ;U_ %ﬁﬁﬁns
JRFYRH LT 1
ONETISZ 4%

No. KT-120114-A



